SPH3U7-UNIT 1 MEASUREMENT QUIZ               Name:_____________________                   /16
1.
Five people measure the mass of an object.  The results are 0.53g, 0.58g, 0.56g , 0.59g, 0.58g.  How would you report the measured value for the object’s mass? (show your work) [2 marks]
...................................................................................................................................

...................................................................................................................................

...................................................................................................................................

2.       Perform the following calculation 50.000+4.0

A.
54
B.
54.0


C.
54.00
D.
54.00
3.
Repeated measurements of a quantity can reduce the effects of 


I.
 random errors


II. Systematic errors

A.
I only
B.
II only
C.
I and II
D.
neither I or II
4.
The period T of oscillation of a mass m on a spring, having spring constant k is T = [image: image3.png]


.


The uncertainty in k is 11% and the uncertainty in m is 5%. The approximate uncertainty in T is

A.
4%.

B.
6%.

C.
8%.


D.     16%.
5.
Look at the following ammeter display and state the current with uncertainty [2 marks] 
[image: image1.wmf]k
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5.
The height h, for a particular capillary tube was measured for different temperatures of the 

water. The variation with temperature  of the height h is shown below. 
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a) 
If the uncertainty in the height is 10% and the uncertainty in the temperature is 6%, calculate and draw the error bars on the first and last points of the data set. [4 marks]
..................................................................................................................................

..................................................................................................................................

..................................................................................................................................

..................................................................................................................................

b) 
On the graph above, draw the line of best fit that has the greatest gradient (slope).  Determine the gradient (slope) of the line you have drawn.  [4 marks]
..................................................................................................................................

..................................................................................................................................

..................................................................................................................................

.................................................................................................................................

c)  Based on the graph above, write a proportionality statement that shows how h relates to θ [1 mark]
..................................................................................................................................
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